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&l MEE 44 38 82 10.8 71.2
Ep BiE o= 46 48 94 22.8 71.2
3 fz| WE 28F 42 41 83 10.8 72.2
4 iz LA &7 54 50 104 31.2 72.8
5 fiz| A —H 41 49 90 16.8 73.2
B-B| #AiEMNE 61 64 125 36 89
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IE i K % ouT I N TOTAL] HDCP NET
& | XFER 44 44 88 18 70
Ep B —% 43 46 89 16.8 72.2
3 fi| {£BE SFE 44 44 88 15.6 72.4
4 | BN EF 50 50 100 27.6 72.4
5 fir| #aA& Ei= 44 48 92 19.2 72.8
B-B| ZH#Et 66 53 119 36 83
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A BEEET: 42 39 81 12 69
@l WFE =8 46 42 88 18 70
3 fiz| vl EBA 39 39 78 6 72
4 fz| HHEIER 37 38 75 2.4 72.6
5 fiz| AIEF #F 42 39 81 8.4 72.6
B-B| Jl®E= 62 61 123 36 87
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& | HHg= 42 40 82 12 70
@l B A 39 43 82 12 70
3 fz]| it E— 43 39 82 10.8 71.2
4 fu| {EEE RSB 39 42 81 9.6 71.4
5 fir| K #BBE 41 39 80 8.4 71.6
B-B|l W% % 53 54 107 25.2 81.8




